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THE WINNING EDGE DEFENCE ACADEMY (WEDA)

SAINIK SCHOOL, CLASS - 6TH

SOLUTION (2024)

Time: 2 Hrs 30 Min

w3 2 52 30 e
Sections / 3rgwmT Questions / % Maximum Marks / sifterawn o
English / sish 25 25 x 2 = 50
Mathematics / 7w 50 50 x 3 = 150
Intelligence / gfmn 25 25 x 2 = 50
General Knowledge / am=r 3= 25 25 x 2 = 50
Total / 3= 125 300

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates after the completion of the exam.
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SECTION — A: ENGLISH

1. Choose the correct spelling from the given
options:

b) Sanctian
d) Sanction

a) Sanction
c) Sancison

Explanation:-
The correct spelling is ‘Sanction’.

Sanction means official permission to do or
change something.

2. Choose the word opposite in meaning to the
given word.

Forgiveness

b) Decline
d) Revenge

a) Restore
c) Withdraw

Explanation: -

Restore: To bring back to a former or original
condition. For example, restoring a painting to its
original state.

Decline: To refuse or reject. It can also refer to a
gradual downward movement or decrease in quality
or quantity.

Withdraw: To remove or take back. It can also mean
to retreat or pull away from a situation or place.

Revenge: The action of inflicting harm or
punishment on someone in retaliation for a wrong or
injury.

The correct antonym is ‘Revenge’.

3. Choose the correct article from the given
option.

He s honest officer.
a)a b) an
c) the d) No error

Explanation: -

The choice of "an" is based on the fact that the
following word, "honest," begins with a vowel
sound (the 'h' in "honest" is silent). When the
first letter of the following word is a vowel
sound, we use "an" instead of "a" to ensure
smooth pronunciation.

4. Identify the tense of the following sentence:
The Sun sets in the West.

a) Present Indefinite

b) Past Indefinite

¢) Future Indefinite

d) Present Perfect Tense

Explanation: -

Present Indefinite tense is used to express
general truths, facts, habits, and timeless
situations.

In this sentence, the statement "The Sun sets in
the West" represents a general fact or truth
about the regular occurrence of the sun setting
in the west.

5. Fill in the blank:
The of these products good.

b) quality, are
d) qualities, is

a) quality, is
c) quality, were

Explanation: -

The subject "quality" is singular.

And hence the verb to be used should also be
singular.

The correct sentence, therefore, is —

The quality of these products is good.
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(Direction Q.6-Q.10) Read the following
passage carefully and answer the questions
given below:

It is believed that a pashmina shawl is as warm
as six sweaters! It is very thin yet very warm.
The goats from which the soft pashmina wool is
collected, are found on very high altitudes of
5000 metres. In winter, the temperature here
drops below 0°C (-40°C). A coat of warm hair
grows on the goat's body which protects it from
extreme cold. The goats shed some of their hair
(fur) in summer. This hair is so fine that six of
these would be as thick as one hair of yours!
The fine hair cannot be woven on machines and
so weavers of Kashmir make these shawls by
hand. This is a long and difficult process. After
almost 250 hours of weaving, one plain
pashmina shawl is made. Imagine how long it
would take to make a shawl with embroidery.

6. Choose the correct option to fill in the blank:

It is believed that a pashmina shawl is as warm
as

b) six sweaters!
d) eleven sweaters!

a) three sweaters!
c) nine sweaters!

Explanation: -

According to passage it is believed that a
pashmina shawl is as warm as six sweaters. It is
very thin yet very warm.

7. Choose the correct statement:

a) The goats shed some of their hair (fur) in
summer.

b) The goats shed some of their hair (fur) in
winter.

c) The goats shed some of their hair (fur) in
rainy season.

d) The goats shed some of their hair (fur) in

spring.

Explanation:-

Acc to passage the goats shed some of their hair
(fur) in summer.

8. Choose the correct option:

After almost of weaving, one plain
pashmina shawl is made.

a) 100 hours
c) 200 hours

b) 150 hours
d) 250 hours

Explanation: -

It is mentioned in the passage that after almost
250 hours of weaving, one plain pashmina
shawl is made.

9. "A coat of warm hair grows on the goat's
body which protects it from extreme cold."
Identify the part of speech for "hair' from the
given sentence.

a) Verb
c) Pronoun

b) Noun
d) Adjective

Explanation: -

‘Hair’ is the name of a thing and hence it is
a noun.

10. Choose the opposite of thick'.

b) soft
d) fine

a) warm
c) thin

Explanation: -

Thin: This is the correct opposite of "thick."
"Thin" describes something that has a small
distance between opposite sides or surfaces.
For example, a sheet of paper is thin.

11. Identify the adjective from the given
options -

a) High
c) Birds

b) Found
d) Remains

Explanation: -
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An adjective is a word that describes or
modifies a noun.

In this case, "high" is an adjective because it
describes a quality (the level or position) of a
noun, such as a high mountain or a high level.

12. Fill in the blank with correct degree of
comparison:

| have much money in my pocket.

b) More
d) Many

a) Not so more
c) Most

Explanation: -

The sentence is comparing the amount of
money in the speaker's pocket, and "more" is
the appropriate comparative degree to indicate
a greater quantity compared to some previous
or implied standard.

"Not so more" is not grammatically correct.
"Most" is the superlative degree and would not
be suitable in this context.

"Many" is used to refer to countable objects,
but in this context, the comparison is about the
qguantity of money, which is usually treated as
uncountable.

13. Choose the word that is opposite of real

b) Imaginary
d) Modern

a) Reward
c) Wise

Explanation: -

Real: Refers to things that exist or occur as fact,
not imagined or fictional. Real things have an
actual existence.

Imaginary: Refers to things that exist only in the
imagination or mind and are not real or
tangible.

14. Choose the correct spelling-

a) Receive b) Receive

c) Receive d) Receeive
Explanation: -

The correct spelling is ‘Receive’.

Receive means to get or accept something that
somebody sends or gives to you.

15. Choose the correct option to improve the
sentence and replace it with underlined word-

'Did there bus come on time?'

a) their
c) their's

b) theirs
d) No improvement

Explanation: -

The improved sentence would be: "Did their
bus come on time?"

"Their" is the possessive form of "they" and is
used to indicate possession or ownership by a
group of people.

"There" is an adverb indicating a place and does
not fit the context of the sentence.

16. Choose the correct option to improve the
sentence.

'Ram left the house before Shyam got there'.

b) leaves
d) has left

a) will leave
c) had left

Explanation: -

The improved sentence would be: "Ram had left
the house before Shyam got there."

The use of "had left" is appropriate because it
indicates that the action of leaving (by Ram)
occurred before another past event (Shyam
getting there).

This construction establishes the sequence of
events in the past.

17. Fill in the blank with suitable question tag-
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'l needn't ask him, ?

b)am |
d) need |

a)canl
c)aren't|

Explanation: -

The complete sentence would be: "l needn't ask
him, need I?"

In English, when making tag questions, we often
use an auxiliary verb that agrees with the tense
of the main verb in the statement.

"I needn't ask him" is a negative statement in
present tense, so the tag question should use
"need I" to maintain the negative form.

18. Complete the sentence with the correct
form of verb -

The train suddenly.
a) is stop b) stopped
c) was stopping d) has stop

Explanation: -

The complete sentence is: "The train stopped
suddenly."

Here the past tense is required because the
action of stopping occurred in the past.
"Stopped" is the correct past tense form of the
verb "stop," making the sentence grammatically
accurate.

19. Choose the sentence having intransitive
verb.

b) Birds fly
d) He burnt his diary

a) Boys fly kites
c¢) Karim ran a race

Explanation: -

A verb is transitive when the action of the verb
passes from the subject to the direct object.
Intransitive verbs don't need an object to make
sense — they have meaning on their own.

The sentence ‘Birds fly’ uses an intransitive
verb ‘fly’ as it does not pass the action to any
object.

20. Fill in the blank with suitable conjunction.

I do not know he has gone or not.
a) whether b) if
c) through d) yet

Explanation: -

"Whether" is the appropriate conjunction to
introduce a clause expressing a doubt or choice
between alternatives.

In this context, it is used to indicate uncertainty
about whether he has gone or not.

21. Complete the sentence with suitable
article-

Ram is student whom we all expect
to get less than 35% marks.

a)a b) the
c) that d) an

Explanation: -
The sentence specifies a particular student,
Ram, and gives additional information about

him, so definite article ‘the’ is used here.

22. Fill in the blank with correct preposition-

The speaker is going the subject.
a) from b) off
c)to d) within

Explanation: -
The phrase "going off the subject" means the
speaker is straying away or deviating from the

main topic.

23. Fill in the blank with correct word.
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'Akbar's army the castle of
Chittorgarh'.

a) Cease b) Seize

c) Seized d) Sees

Explanation: -

"Seized" is the appropriate word in this context,
as it means to take hold of or capture
something forcefully.

"Cease" means to stop or come to an end, and
it doesn't convey the idea of capturing or taking
control.

24. Choose the correct meaning of "Beat the

air"-

a) To make useless efforts
b) To be victorious

c) To be defeated

d) To defy

Explanation: -

The expression "beat the air" is an idiomatic
phrase that means to make futile or useless

efforts, to engage in actions that do not result
in any meaningful or productive outcome.

25. Choose the word opposite in meaning from
the given option:

THREAT

a) Menace b) Thoughtful
c) Safety d) Prosper
Explanation: -

Menace: This word is a synonym of "threat." It
means something or someone that poses a
danger or harm.

Thoughtful: This word means considerate or
showing care and thought for others.

Safety: This word is the opposite of "threat."
"Safety" refers to being free from danger,
harm, or risk.

Prosper: This word means to succeed or thrive,
especially financially.

SECTION — B: MATHEMATICS

26. 2.6 kg +3 kg 700 g?

a)6kg300g b) 5.6 kg
c)5kg300¢g d) 6.7 kg
Explanation/ TasteRor:-

1lkg = 1000g

3 kg 700g = 3 kg + 700g
=3 kg+ 7001000 kg
=(3+0.7) kg

=3.7kg

~ 2.6 kg+3.7kg

= 6.3 kg

= 6 kg 300g

27. The side of a cube formed by melting a
solid cuboid with dimension 3 cm x8 cm x 9
cm is:

3 QA x 8 Tt x 9 Yt SR FTer Tk 3T T Y e
ﬁaﬁwaﬁgm%:

a)6cm b) 4 cm
c)3cm d)5cm
Explanation: -

Let side of a cube be ‘@’

Dimensions of cuboid = 3cm x 8cm x 9cm
Volume of cube = Volume of cuboid
(side)’=Ix b x h
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a>=3x8x9
a’=216
a=3/216

a=6cm
TS

T B 6T ST ©

TS T ST = 3 THT x 8 AT x 9 Tuff
O T ST = ST T A
(side)’=1X b X h

a’=3x8x9

a’=216

a=3/216

a=6cm

28. Eight small cubes each having edge 2 cm
are arranged to form a large cube. The
volume of the large cube (in cm?) is:

O ST T S 3 T e 2 Y P ATy S S o Y

e TR T B S O T AT (A1 H) #:
a) 48 b) 60

c) 64 d) 72
Explanation: -

Let side of a large cube be ‘@’

Side of a small cube = 2cm

8 x volume of small cube = volume of large cube
8x (2)’=a’

8x8=a’

64=a’

Hence, volume of large cube = 64 cm?

TIY IR -

T T 1 O T 9T '’ B

TS DI o 1 91 = 2 Wt

8 x DTS T T I = S U ol ITFAT
8x (2)'=a’

8x8=a’

64=a’

3T I T T ™A = 64 cm’

29. If the cost of 420 oranges is Rs.2,520 then
the cost of 8 dozen oranges is:

f 420 T I HIAT Rs.2,520 B AT 8 To el hl A &

a) Rs. 480 b) Rs.528
b) Rs. 540 d) Rs. 576
Explanation: -

Cost of 420 orange = Rs 2520

Cost of 1 orange = 2520/420

=Rs 6

Cost of 8 dozen orange =8 x 12 x 6
=96 x 6=Rs 576

TERIT:-

420 Gl T HHT = Rs.2520

1 GaX st shimd = 2520/420
=Rs. 6

8 TSI HAL HT T = 8 x 12 % 6
=96 x 6

=Rs. 576

30. If 16 bags cost Rs. 1,520, then the cost of
3 bags will be:

X 16 ITHIFWT Rs. 1,520 &, T 3 ST AT HHATER:

a) Rs. 240 b) Rs. 255
c) Rs. 270 d) Rs. 285
Explanation: -

16 bags cost = Rs 1520

1 bag cost = 1520/16

3 bags cost =( 1520/16)x3
=Rs 285

-

16 ST =T A = Rs.1520

1 ST Y i = 1520/16%3
3 ATt hiEd = (1520/16)x3
=Rs.285
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31. Which of the angles in the given figure
is/are equal to three right angles?

AT AT H A T I 1 T 5 ST R/

a b\
2]
d f 90 e gQ"
o

a) ze and zconly./ Faa Le 3R Lc

b) zc only/ Faat £c

c) eonly/ Fad Le

d) ze, zc, £f and 2g only / Faat Le £c, £Lf 3R
48

Explanation: -

£c+90°=360° (complete angle)
£c=360-90

= 270° (which is equal to three right angles)
And,

2e +90°=360° (complete angle)
£c=360-90

=270°

Which is also equal to three right angles.
Hence, option (a) is correct.

TTHIHIT:-

Ze+90"=360" (901 o)
Zc=360-90

=270° (ST 9 THERHIIT 3 S 7)
R,

Ze +90"=360" (901 ror)
Zc=360-90

=270’

ST A FHERIOT o SIer ot R
o1, forehed () W R

32. Name the type of an angle whose
measure is 26° more than the difference
between the angles 146° and 82°.

39 HIT % YhR HT A 15 et 717 146° 3T 82° &
ofier & Y 26° AR R

a) acute angle / =@

b) obtuse angle/ =fere wor
c) right angle / @mehror

d) reflex angle / wfdardf aior

Explanation: -

(146 — 82) + 26°
=64%+26°
=90°=Right angle

TERIT:-

(146 — 82) + 26’
= 64°+26°
=90’

= GuHIT

33. Two angles of a triangle are 40° and 50°,
respectively. Name the triangle based on
sides and angles.

T TS 3 2 IO AR 40° IR 50° T ST A HIOT F
TR R B &1 T wasy
A

40" 50"
B C

a) Scalene and acute angled triangle/ fowmarg
3 =grehror st

b) Scalene and right-angled triangle / fawwarg
I T st

c) Isosceles and obtuse angled triangle /
Tmfgag S st frgst

d) Scalene and obtuse angled triangle / fawwemg
HI FAfearshioT Byt

Explanation: -
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One angle = 40°

Other angle = 50°

We know that,

Sum of three angles of a A = 180°
40°+50°+2A =180°

90%+2£A =180°

2A =90°

Hence, option (b) is the correct answer.

TSR -

T 1T = 40”

1= 10T = 50"

T S & R,

A\ 3 T 1T 3T T = 180°
40°+50"+£A =180’
90°+£A =180°

LA =90’

ZafeT, et (b) wel ST R)

34. Which of the following fractions will be
at the third place from the left, when these
fractions are arranged in ascending order?

Frfafas & @ #i o = ad & et @@ w @, so

=t o ST s o e faram Srar @2
Z E 79
376’87 14
a)2/3 b) 5/6
c)7/8 d) 9/14
Explanation:
257 9
3’6’8’ 14
Taking LCM of 3, 6, 8 and 14 = 168
2x56 _ 112 5x28 _ 140
3x56 168’ 6x28 168
7x21 _ 147 9x12 _ 108
8x21 168’ 14x12 168
. 108 112 140 147
In ascending order ,—,—,—
168’168’ 168’ 168
9 257
14’3’6’8

The fraction will be third from the left = g .

TIHIHIT:-

257 9

3’6’8’ 14

3,6,8 3T 14 HTLCM o T = 168
2X56 112 5><28 140

3x56 168’ 6x28 168
7x21 _ 147 9x12 _ 108
8x21 168’ 14x12 _ 168
108 112 140 147
SR i = S0 112 140 147
168’ 168’ 168’ 168
9 257
14’3’6’8

oy amd & et Tor W ERt = Z.

.22 2 2,
35. Arrange the fractions—,-,—,=in
9’57117
descending order:

[ TR S SRR U PHOg

9’5’11’ 7

2 22 2 22 2 2
a)—,—- - -~ b)-,~=,-,—
)11'7'9 ’5 )5’7 ‘9711
C)z 2 2 2 d)2 222
9’5’11’7 11’9’7’5
Explanation:
22 2 2
5’7 9711

Whenever numerator of fractions are same,
then fraction with larger denominator becomes
smallest and fraction with least denominator
becomes the largest fraction

TSR -
STV SHA T = 2/5 ,2/7 ,2/9 2/11

St oft =T 3 377 99 B1d § A7 sTe WISt oTed! f= Jed
B B ST ® S G HH A ATl B g 9 @
EIcik

31q:, faehed (b) TET IR

36. The largest among the fractlons T 172
and > is
13
54 7 6
a)5/9 b) 4/11
c)7/12 d)6/13
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Explanation:

4 7 6
_J

5
9’11’12’ 13

The LCM of 9, 11, 12, and 13 is 5148
Converting each fraction to have a denominator

of 5148:

5X572 _ 2860 4x468 _ 1872
9x572 5148’ 11x468 5148
7x429 _ 3003 6x396 _ 2376
12x429 5148’ 13x396 5148

Arranging the fractions in descending order

based on their numerators:

3003 2860 2376 1872
5148’ 5148’ 5148’ 5148

Corresponding fractions:
7
12’

5 6 4
9’13’11

T

5 4 7 6
9’11’12’ 13
9,11, 12dYT 13 T LCM = 5148

5X572 _ 2860 4x468 _ 1872
9x572 5148’ 11x468 5148

7x429 _ 3003 6x396 . 2376
12x429 5148’ 13x396 5148

.3003 2860 2376 1872
SIS A H , , ,
5148’ 5148’ 5148”5148

4

- 6
713711

o |

)

=
Nl\‘

37. What should be added to 513 to get 657?
513 T SreT ST, {3 657 YW BT ST

a) 165
c) 144

b) 136
d) 917

Explanation: -

Let a number be added = x
513+x=657

X =657-513

x=657-513

x=144
TEH: -

T SIS Teh H&a Siet STt € = x
513+x=657

X =657-513

x=657-513

x=144

38. Three cloth pieces of length 7 m, 7.5 m
and 9.5 m respectively are cut in pieces of
identical maximum length. The length of
each small piece (in cm), is:

s 7 HWiew, 7.5 WieX ik 9.5 et W9 O diF FuS h
THS Y T SATYHaW TS  ZHSI 8 FHIeT ST 8| TAH B

a) 25 b) 30
c) 40 d) 50
Explanation: -

HCF of 7, 7.5 and 9.5

= HCF of 7, 75/10 and 95/10
Or HCF of 700, 750, 950
Hence, HCF = 5/10=0.5m
*1m=100cm

HCF =0.5%x100=50cm

T -

7,7.5 3T 9.5 T HCF

= 7,75/10 31T 95/10 T HCF
1700, 750, 950 3T HCF

HCF =5/10=0.5m
% Im =100 cm
HCF = 0.5 x 100 = 50 cm

39. The LCM and HCF of two numbers are
150 and 25, respectively. If one of the
numbers is 75, then the other number is:

S H@TRT % LCM 30 HCF 9T 150 325 § afe s S
e 75 8, M@l e e
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a) 29 b) 32
c) 40 d) 50
Explanation: -

We know that,
LCM x HCF = Product of two numbers

150x25=75xx
150x25

75
x =50
Hence, the other number is 50.

T -

B S & o,
LCM x HCF = &1 §edT3Al 31 UG
150 x 25 =75 x X

150%x25
=X
75

X =50
37:, A HEAT 50 B

40. A shopkeeper bought a table and a chair
for Rs. 1,900 and Rs. 600, respectively. He
sold both the items to Ankit with 15% profit.
How much did Ankit pay for the table and
the chair?

T GHAGR A U AT 3 T Fll A Rs. 1,900 3K Rs. 600
F @it 3o QT ey Sfhd ht 15% @ A 3| Sifehd 3 3
3 elt 3 fore o & T

a) Rs. 2,515 b) Rs. 2,590
c) Rs. 2,785 d) Rs. 2,875
Explanation: -

Cost price of a table =X 1900
Cost price of a chair =X 600
Total cost price = 1900 + 600
=X 2500

Profit = 15%

SP =(115/100)x2500
=X115%x25

=X 2875

TR

Ta B 1 364 79 = % 1900
Tsh T =T 3T J = % 600
A 3T qTT = 1900 + 600
= Rs.2500
v = 15%
o T = —2x2500

S 100
=Rs. 115 %25
=Rs. 2875

41. In the examination Divya scored 340
marks out of 400 marks. The percentage of
marks, she scored is:

v 3 fasar 7 400 SR W ¥ 340 i YW fRy SEh g0 W
&aﬁwsrhm%

a) 60%
c) 80%

b) 76%
d) 85%

Explanation: -

Percentage of marks

=340 . 100 = 85%
400

TSR -

ST T % — 20 100 = 85%
400

42. The number whose 20% is equal to 10, is:

e e FraehT 20% 10 % SR 2:
a) 30 b) 40
c) 50 d) 56
Explanation: -

20% of x = 10
20/100 x x=10
x=10x5

x=50

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

TS -

X h120% =10

20

—xX=10 X=10x5
100

X=50

43. If 46% of a number is 115, then what is
150% of the number?

afe Tt d=aT T 46% 115 &, T EEATHT 150% T 82

a) 300
c) 415

b) 275
d) 375

Explanation: -

46% of x=115

(46/100)xx=115

x=11500/46

x=250

Now, 150% of 250 = (150/100)x250
=15x25

=375

TIYIHIT:-

X H46%=115
46
—xx =115
100
11500
46
X =250
150
100

3T, 250 T 150% = %250

=15%25
=375

44. A metallic rod was heated to a
temperature of 120° C. Later, its
temperature reduced by 34° C and then its
temperature was raised by 45° C. What is the
present temperature of the rod?

T €1 1 B I 120° C % A9 T foram TEm @i H,
THRT AIIHI 34° C HH B 7T AT T S8t a9  45° C
T T TR B T AW A T R?

a) 165° C b) 154° C
c)131°C d) 79°
Explanation/ Tasiaor : -

120°C-34°C+ 45°C
= 1650C—349C
= 1310C

45. A yessel is heated to a temperature of
62°C. The temperature of the vessel in
degree Fahrenheit is:

Teh SIG T 62° C o AUHT YT T TRAT STTaT 21 i shT aras
feht AR 7 &

a) 143.6°F b) 94° F
c) 66.4°F d) 30°F
Explanation/ Sagieur: -

°F=((9/5)x°C)+32
°F=((9/5)x62)+32
=111.6 +32
=143.6°F

46. Match List-l with List-II:

List-I

A. Half of a circle

B. Half of the longest
chord of a circle

List-II
|. Diameter
[I. Centre of circle

C. The line segment I1l. Semicircle
which divides a circle in
two equal parts
D. All diameters of IV. Radius
a circle intersect at a point
TA1-1 T -1 & GHferd
i1 Gfl-11
A. I 3T SATET AT L. =
B. 3 Y T welt Sftar 1. 3 T %
ST JATHT 91T
C. I8 {@rEs S g 11, 3Tefa
! ferTi™Te e 8
Y S W A
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D. 31 & |+t = 1v. B

e fofg vt wfereae et €
Choose the correct option from the below:
e g e fomredt # & ot fasrea H:

a) A-lll, B-1, C-ll, D-IV
b) A-lll, B-1V, C-I, D-I
c) A-ll, B-lI, C-1V, D-I
d) A-1V, B-lll, C-II, D-I

Explanation: -

Half of a circle know as semi — circle

Half of the longest chord of a circle known as
radius.

The line segment which divides a circle into two
equal parts known as diameter.

All diameters of a circle intersect at a point
known as centre of a circle.

Hence, option (b) is the correct one.

TSR

T T AT 9T SR STefa shed B

3 T T el S T ST W o e wed 2

I I AT SIS TR H forTiSia i ATl Tare s SaTe sheatdl
2l

T % it = o fofg T wfosae e § ol 3 o s wed
&l

1 forened (b) W& R

47. In figure O is the centre of the circle. If
AB= 8 cm then the length of OP is:

A # O I *1 % B IfF AB= 8 Fft & At OP it warg
®:

r

0 B

a)6cm b) 4 cm
c)3cm d)5cm
Explanation: -

AB is the diameter of a circle =8 cm
Its half (radius) i.e. OP = 8/2=4cm

TSR -

AB U I I 979 & = § Y
gaehT 371 (=) Frft OP = 8/2=4cm

48. Jaspal purchased an old car for Rs.
1,18,000 and spent Rs.7,000 on its
maintenance. If he sold the car for Rs.
1,40,000, then his profit percentage is:

ST A T G0 R Rs. 1,18,000 F THET qorT 38 T@w@E T
Rs. 7,000 G T IfE ST %R Rs. 1,40,000 T =, F SHAT
I8 BIRIG RS

a) 10% b) 11%
c)12% d) 12.5%
Explanation: -

CP of car =Rs 1,18,000
Maintenance cost = Rs 7000
Total CP = Rs 1,25,000

SP =Rs 1,40,000

Profit = SP — CP

=1,40,000 - 1,25,000

= 15,000

Profit% = (15000/125000)x100
=12%

YT -

T T 57 74 = Rs.1,18000
TG AT = Rs. 7000

% %3 9T = Rs.1,25,000
forsha 7@ = Rs. 1,40,000

AT = forshal 7o — 563 e

= 1,40,000 — 1,25,000

= 15,000

@ % = (15000/125000)x100
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=12%

49. The supplementary angle of the
complementary angle of one tenth of a right
angle will be:

THEHIOT o A T o GG i0T T L hIvT GAT:
a) 99° b) 88°

c) 81° d) 101°
Explanation: -

Supplementary angle of complementary angle
of one tenth of right angle

= 180-(90-(1/10)x90)

=180-(90-9)

=99°

TIYIHIT:-

FHEIV o THE T o TT 10T hT L hi0T
= 180~(90—(1/10)x90)

= 180~(90-9)

=99’

50. The supplementary angle of three times
of the half of a right angle is:

A. Acute angle
C. Right angle

B. Obtuse angle
D. Half of a right angle

TR 5 AT 3 o AT R B0 R

A. =TT

B. 3tfr wior

C. T

D. TwhIT T ATET

a)Only A/ Faa A

b) Only C/ Fa=ic

c) Only A and D/ %se A 3t D
d)OnlyBand C/ @B s3fiRC

Explanation: -

Supplementary angle of three times of half of
right angle

=180— {3x(0.5%90)}

= 180-{3x45}

=180-135

=45° j.e. actual angle & half of right angle.

TSR -

HHEIOT o ST o <l AT HT G HI0T

= 180—{3x(0.5%90)}

= 180—{3x45}

=180 - 135

= 45° I ATEATerh 10T 3R FHERIVT T SATE|

51. In the given figure, the value of x is

HE AT &, x AR
o o
, 32 50 .
» —7
x°
a) 82 b) 90
c) 100 d) 98
Explanation: -

£C0OD=; £AOB=x (vertically opposite angle)
32 + x + 50 =1800 (linear pair)

82 + x =1800°

x =1800—-82

x =980

-

£COD=; ZAOB=X (IeAter faodia i)
32+ X + 50 =180" (e 7m)

82+ x =180°

X =180"-82

X =98"
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52. The sum of the greatest 4-digit number
and the smallest 3-digit number is:

el T 4-3ThI TEAT 3TN T8 BT 3-3h 1 AT HT AT
?

a) 10000 b) 10110
c) 10099 d) 10999
Explanation: -

Greatest 4 digit number = 9999
Smallest 3 digit number = 100
Sum =9999 + 100

=10099

TIYIHIT: -

o STl 4-37hIT TEAT = 9999
e BT 3-37h &A1 = 100
AT = 9999 + 100

=10099

53. The difference between the greatest and
the smallest 5-digit numbers formed using
the digits 0, 2,5,3 and 1, is:

IRt 0, 2, 5, 3 T 1 T AT ok TS TS qo9 w2 1T qa g

B 53R TEATHI & of = T A R

a) 45555 b) 44444
c) 43205 d) 42975
Explanation: -

Greatest 5 digit number =53210
Smallest 5 digit number = 10235
Difference = 42975

TR -

ol €T 5-37h G = 53210
oY BT 5-37h1T €& = 10235
S = 42975

54. Which of the following numbers is
divisible by 3?

TFfeRaa & & i o w3 @ s |2

a) 518932 b) 117342
c) 213454 d) 337625
Explanation: -

Divisibility rule of 3 says that sum of all digits is
divisible by 3.

In option (a), 518932=5+1+8+9+3+2=28
28 is not divisible by 3.

In option (b), 117342 =1+1+7+3+4+2
=18

18 is divisible by 3.

TSR -

3 o1 forTsarT fem s © fo |t sfehi ot AT 3 & fawsa
EW(a)ﬁ,518932=5+1+8+9+3+2
zgz,iﬁﬁmwﬁ%l

faheT (b)), 117342=1+1+7+3+4+2
Tgtiﬁ%m%l

55.144:9x2+6-4=__ 2

a) 10 b) 2
c)34 d) 64
Explanation: -

144 +9%x2+6-4
16x2+6-4
32+6-4

32+2

34

56. Jayesh and Mohan started a business by
investing Rs 28,000 and Rs 35000,
respectively. At the end of the year Mohan
received Rs 6,250 as his share in the profit.
The total profit in the business, is:

ST 3T AT T S Rs. 28,000 3 Rs.35000 FT P17 =
T SR [ R o i 7 He o o i S ol B w

# Rs. 6,250 foreh) sraam § Fer A R:
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a) Rs. 9,200 b) Rs. 10,000
c) Rs. 11,250 d) Rs. 12,250
Explanation: -

Jayesh’s share : Mohan’s share
28000 : 35000

4:5

Let, ratio be x

Jayesh share = 4x

Mohan share = 5x

According to question-
5x=6250
x=6250/5=1250

Total profit=4 x + 5x
=9x

=9x1250

=Rs 11,250

T -

28000 : 35000
4:5
T, S X
SRIeT AT e = 4x

e o feedr = 5x
ATQ.,

5X =6250
X =6250/5=1250

FAAW = 4X + 5X

=9Xx
=9 x 1250
=Rs. 11,250

57. In a 20 kg mixture of yellow pulse and
black pulse, there is 4 kg black pulse. The
ratio of black pulse and yellow pulse in the
mixture, is:

dieft arer 3R el arer ¥ 20 R freror 7 4 e Frel T /)
Torsror 7 sttt arer A el 3Tt 1 ST &

a) 1:5
c) 4:15

b) 1:4
d)1:6

Explanation: - (2) 20 kg

Yellow pulse Black pulse

(20 -4 kg) 4lkg
16 kg
Black pulse : Yellow pulse
4 kg: 16 kg
1:4

TAETEHI: -

20 kg

et g

! |

(20 — 4 feFm) 4fEm
16 T

FTAT ST - et <Tet
AfFm: 16 T
1:4

58. Joseph borrowed Rs 25,000 on simple
interest at the rate of 6% per annum for 4
years. How much did he pay at the end of 4
years?

SHF T 4 96t F T 6% it o ft | AERT AR W
R 25,000 38R T | 4t o 3iq § 36 ot TRTIHE?

a) Rs. 30,000 b) Rs. 31,000
c) Rs. 31,800 d) Rs. 31,920
Explanation: -

Principal = Rs 25000
Rate = 6%

Time =4 years

We know that,
SI=(PxRxT) /100
=(25000x6x4)/100
=250x24

=6000

Total amount =P + SI
= 25000 + 6000
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=Rs 31000

T -

TG = Rs. 25000
T=6%

T = 4 99

T S 8 R,
SI=(PXRXT)/100
=(25000%6x4)/100
=250%24

=6000
FAART=P + SI
=25000 + 6000
=Rs.31000

59. In how many years will a sum of Rs.
1,800 become Rs. 2,610 on simple interest at
the rate of 9% per annum?

Rs. 1,800 3T TFIT 9% ook < A GTERYT SATST W fohel I o Rs.
2,610 B ST@?

a)d b) 5
c)6 d) 12
Explanation: -

Principal =X 1800
Amount =X 2610

Rate = 9%

Let time =T years
Amount =P +SI

2610 = 1800 + SI
SI=2610-1800

SI=X 810

Now, SI=(PXRXT)/100
810 = (1800 x 9 x T)/100
T=>5years

T

wered = 1800

fir= 22610
T =9%

qET T = T a9

TR = A + HTHTT &1
2610 = 1800 + HT&ROT 7S
TEROT 4715 = 2610 — 1800
o s = % 810

F4, (SI=PxR=T) /100

810=(1800x9xT") /100
T=5a%

60. The perimeter of the given figure, is:

&7 STrepfar e R
2 cm/\2 cm
4cm 4cm
2cm dcm 4cm 2em
2cmc Jz cm
4cm 4cm
4cm 4cm
2cm\/2 cm
a)32cm b) 40 cm
c) 48 cm d)52cm
Explanation: -

Perimeter=(2+2+4+4+2+2+4+4+2+2
+4+4+2+2+4+4)
=48 cm

TSR -

TR =2 +2+4+4+2+2+4+4+42+2+4+4+2
+4+4)

= 48 Tt

61. Pinky runs around a square field of side
50m and takes 6 rounds. Shruti runs around
a rectangular field of length 160m and
breadth 120 m and takes 2 rounds. Who
covers more distance and how much more
(in m)?

Y 50 et ¥ aTet T FiHR e 9w 3R et @ 3k 6
Rt AT 21 R 160 HiX dad MR 120 i S I T
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AAERR B & IR AR regdl & 3R 2 Fept el 8] i
7feres gt o @ S foraett erferen g (flee ) T s @2

a) Shruti, 80m
c¢) Shruti, 65 m

b) Pinky, 80m
d) Pinky, 40 m

Explanation: -

Perimeter of a square =4 a

=4 x50

=200 m

Pinky takes 6 rounds around a square field of
200 m

i.e. 6x200=1200m

And, Perimeter of a rectangle =2x (I +b)

=2x (160 + 120)

=2x 280

=560 m

Shruti takes 2 rounds around a rectangular field
of 560 m

i.e.2 X 560 =1120m

Hence,

Pinky covers more distance than shruti by (1200

—1120)=80 m.

TIYIHIT:-

FiF T =4 a

=4 x50

=200t

TR 200 i 3 aTieRT AT % = 3T 6 TRt AT &

31T 6 x 200=1200 M

qd,

SR ETgiET =2x ([ +b)

=2x (160 + 120)

=2x280

=560 4l

#RT 560 Ht 3 STRIATHRR HaT % =R 3T 2 TR I &
31T 2x 560=11201M

A,

fiteht 21fa & (1200 — 1120) =80 Hiet 31fereh gt 72 el )

62. If the average of numbers 12, 15, 19, K
and (K + 5) is 13, then the value of K, is:

Ife FEAmst 12, 15, 19, K 3R (K + 5) wr3ftea 13 &, @K
HAME:

a)3 b) 5
c)7 d)13.5
Explanation: -

Average = sum of numbers/ Total numbers
13 = (12+15+19+k+ k+5)/5

65 =51+ 2k

K=7

TEEHT: -

HIHA = (ST T ART)/(Fet AT
|3 _ 12+15419+k+k+5
B 5
65=151+2k
K=7

63. The average weight of five friends
weighing 48 kg, 50 kg, 53 kg, 55 kg and 49 kg,
is:

qie <, Tomeht = 48 T, 50 form, 53 femm, 55 ferm 3T

49 TR &, ST Sed i e 27

a) 50 kg b) 51 kg
c)52 kg d) 53 kg
Explanation: -

Average of 48 kg, 50 kg, 53 kg, 55kg and 49 kg
48+50+53+55+49

5
255
= ?:51

-

48 femmm, 50 femam, 53 femmm, 55 femam S 49 form =1 @

48+50+53+55+49
= 5

= —-5]
5

64. Read the given statements and choose
the correct option:
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Statements - I: Two distinct lines can
intersect in more than one point.
Statements — Il: More than two lines can pass

through one point.

R Tg et 1 v¢ AR T e

T - I I S-SR @I T & Ao faigett w wfoess W
et 8
U - I1: Y e v e foig & e < wedlt §

a) Only statement | is true / FaAFHFTT
b) Only statement Il is true / Fad FIT 1 TR
c) Both the statements are true / @i & o

H
d) Both the statements are false/ 3T % 3@

g
Explanation: -

Two distinct lines can intersect only at one
point.

That means, statement | is not true

More than two lines can pass through one
point.

That means, statement Il is true

Hence, option (b) is the correct answer.

TSR -

&l SFAT-SAAT LT shefed Ush foig W Sferees T Gehell &
SHHT ATl @ foh e [ 376 21 Ueh foig & a1 & @fereh t@md
TSR Fhdt §| 3HHT A @ foF U 11 T 21 o1 ke
(b) FET SR

65. If x = 30 and y = 120, then value of
X
16(; +5)+1

R x =303 y=1203 A 16 (§+ 5)+ 1®&Tame

a) 85 b) 84
c)21 d) 117
Explanation: -

16(2+5) +1
y
Put x=30 and y=120
= 16(£+5)+1
120
= 16(Z+5)+1
= (16x2)+1

= 84+1
= 85

TEH: -

16 (= +5)+1
y
xX=30%d and y=120
30
= 16(——+5)+1
120
= 16(;+5)1
= (16x22)11
K2k
(16x5)
= 84+1
= 85

66. The decimal form of fraction 5/8, is:

T 5/8 T ST €9, B
a) 0.58 b) 0.62
¢) 0.625 d) 0.652

Explanation: - Decimal form of 58=0.625
THFH: - grﬂwwzo.&S

67. The sum of all prime number, less than 21,
is:

(@) 77 (b) 67
(c)41 (d) 48
Explanation: -

Prime number less than 21
=2,3,5711,13,17,19
Sum=2+3+5+7+11+13+17+19
=77

TEEHT: -
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21 ¥ 7 AT G
=2,3,57,11,13,17,19
AM=2+3+5+7+11+13+17+19
=77

68. Which of the following statements are
NOT correct?

A. Composite numbers are always even.

B. Prime numbers are always odd.

C. Sum of two prime numbers is always
prime.

D. Product of two composite numbers is
always composite.

Fraferfae # & @i | e w76 7

A. ST ST FAT A Bl 8

B. TS weaTd g forew gieft &1

C. 2 7T T 1 FT A ST BT 3|
D. 3 1T YT a1 OHHe ded WIS BT &)

a)AandDonly/ #adA3WRD

b) Band Conly / &a@ B3 C
c)A,Band Conly/ Faa A, B3R C

d) A, B, C and D only/ &aa A, B, C 3R D

Explanation: -

Option (a) is not correct as all composite
numbers are not always even.

Option (b) is not correct as all prime numbers
are not always odd.

Option (c) is not correct as sum of two prime
numbers is always not prime.

Option (d) is correct as product of two
composite numbers is always composite.

TTHIHIT:-

T (a) et 11 © HifR Tt wow seand v ww
Bt &

Torpea (b) Wt =1l & Fifer wft v vt wee forem et
Bt &

e (c) wdt 7 € ifeR S oo TR T AN W
ST T BT R

forpe (0) @@  wifh QF WIT TR H A T
TS BT

69. A party was given to 30 children. Pizzas,
burgers and Cold drinks were bought for Rs.
450, Rs. 300 and Rs. 270, respectively.
Everything was shared equally among 30
children. The cost of items given to each
child was:

30 st 3 U uef @ g s, st ofi Fiee i A Rs.
450, Rs. 300 3 Rs. 270 ¥ T Y| ¥ S 30 F=a! § TR-
TS TN Tk e ahl 41 175 aegil ol AT of:

a) Rs.30 b) Rs. 32
c)Rs.34 d) Rs. 35
Explanation: -

Cost of 30 Pizza = Rs 450

Price of 1 Pizza = 450/30 = Rs 15
Cost of 30 Burgers = Rs 300

Cost of 1 Burgers = Rs 300/30=Rs 10
And, Cost of 30 cold drinks = Rs 270
Cost of 1 cold drink = Rs 270/30=Rs 9
Total cost of items
=Rs15+RS10+Rs9

=Rs 34

TSR -

30 fUssIT it &1 = Rs. 450
450

1 fUss Eﬁaﬁ'ﬂlﬁ=$=RS. 15

30 ST T AT = Rs. 300

laﬁ(?ﬁm:Rs.%: Rs.10
3, 30 s e il amm = Rs. 270
1@?@%@@%:%.%:1%5.9
AT hl et AT

=Rs. 15+ Rs. 10 + Rs. 9

=Rs. 34

70. What should we subtracted from the sum
of 3509 and 2165 to get 4009?

3509 3T 2165 & INT A =T GHET S dTieh TROH 4009 TTE E?
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a) 3580 b) 3530
c) 2665 d) 1665
Explanation: -

Let the number be subtracted = x
(3509 + 2165) — x = 4009

5674 — x = 4009

5674 — 4009 = x

1665 =x

TSR -

HT 12T T 68T = X
(3509 +2165) —Xx =4009
5674 — X = 4009
5674 — 4009 = X

1665 =X

71. Which of the following is the correct
representation, using Roman Numerals of
the number 199?

JHT FH ST A g @O 199 F W Sl
Frafafead @ wars?

a)ICC b) CLXXXXIX
c) CXCIX d) ICCCD
Explanation: -

Roman numeral of 199 =100 + 90 + 9
= CXCIX

TR -
199 ST AT 375 = 100 + 90 + 9 = CXCIX

72. A number written using Roman numerals
(XXI = XV) = VI + MCLXXIII is equal to

QA 3t (XXI — XV) — VI + MCLXXIII T ST ek
et ¢ s s

a) MCLXXIII
c) MCL

b) MCLXVII
d) MCXLIII

Explanation/ Tasiar: -

(XXI'=XVI) = VI + MCL XXIII
(21-15)-6+1173
6—-6+1173

1173 = MCLXXII

73. Harish drives his car at a speed of 45
km/hour. How much time (in minutes) will
he take to drive 12 km?

g0 19t SRR 45 fopreier < nifd @ Semar 81 12 ffraem
3 foraar wwr (Freet ) e

a)9 b) 12
c) 16 d) 20
Explanation: -

Speed =45 km/hour

Distance =12 km

We know that, distance = Speed x Time
12 =45 x time

Time =12 /45 hour

> 1 hour = 60 min

~ time = (12/45)x60 min=16 min

TERIT:-

Tifa = 45 fereiyerer
ajr=12ﬁm°r

B S € fob, gl = 11 x mer

12 =45 x987q

12
Y = — HeT
45

1 EeT = 60 Tie

12 . ,
o HHT = 4—5><60 min=16 min

74. Raman covers a distance of 24 km in 40
minutes. If he increases his speed by 4
km/hour, then how much time (in minutes)
will he take to cover the same distance?

T 40 fire & 24 foft i 36 7 Far {1 AR 7 R e 4
Torrfl/siT =rqT 3aT R, A & THH T 7 W # fwer T (Bt
) TRrm?
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a) 28 b) 32
c) 36 d) 38
Explanation: -

Speed = distance/time
=(24%x60)40=36km/hr
If speed increases by 4 km/hr.
Then, new speed = (36 + 4) = 40 km/hr
New time = (distance/new speed)
=24/40=(6/10)x60=36min

Eosiicoy) o

il
= —— = 24x22 _36 k m /hr

S— 40
Ffe i 4 fereiyeier ¢ Sl Rl
o, 1 71 = (36 + 4) = 40 Ferefi/miaT

—_ ae::_\r 24 6 .
ERIEC e — —— = — X60=36min
o ofy 40 10

75. Amrita went to a market for purchasing
stationary items for her son. She carried Rs.
500 with her. She paid Rs. 135.50 for the
notebooks, Rs. 30.50 for pens, Rs. 3.75 for
erasers, Rs. 48 for a box of colours, and Rs.
142 for a Geometry box. How much money is
left with her?

JTT ST R F T R T HHA Tl TR T 98
I A Rs.500 T 5| 36 AeTF % g Rs. 135.50,
7 % fAT Rs. 30.50, TR & fOQ Rs. 3.75, UM % T s
% foTT Rs. 48 3R AW st & T Rs. 142 F a@

Toram Seeh T fora 98 = 87

a) Rs. 132.25 b) Rs. 142
c) Rs. 140.25 d) Rs.145.75
Solution:

Amrita had = Rs 500

She spent = Rs 135.50 + Rs 30.50 + Rs 3.75 + Rs
48 + Rs 142

=Rs 359.75

Remaining money = Rs 500 — Rs 359.75

=Rs 140.25

T RT:-

STAT S I = Rs. 500

I69 @ 3T = Rs.135.50 + Rs. 30.50 + Rs. 3.75 + Rs.
48 + Rs. 142

=Rs. 359.75

AT TRT=Rs. 500 — Rs.359.75

=Rs. 140.25

SECTION — C: INTELLIGENCE

76. Figures A and B are related in a particular
manner. Established the same relationship
between figure (C) and (D) by choosing a
figure from the alternatives, which replaces
the question mark (?).

fi A it B w& Ry ot @ weiftra & foepedt & 9w
Frepfa g STTfa () SR (&) & sfte aae deiy wnfia
fora, <iv s T () o witreenfa e 21

DB

(A) (B) (C) (D)

(3)

(1) % (2)
X

P 4

4)

b) (2)
d) (4)

a) (1)
0) (3)
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Explanation: -

Figures A and B are related as we observe the
rotation in an anticlockwise manner so that we
get figure B. We will apply a similar relationship
between figure (3) and (4) and get c) option as
the correct answer.

Eosiicoy) o

IR A 3R B Heiftra 3 il 79 ammed fawm § ol 6t
Frréieror e & aTich 6 >TTH(a B W B €9 1A (3) 3R
(4) % i T9M deY A FOT IR qE IW F F9H ¢)
oo T N

77. Which of the following shapes is a part of
the given figure?

Frforftea & & i < sl < s sl w2

PERN
o /N o[\
® @ E

a) (1) b) (2)
c) (3) d) (4)

Explanation: -

The figure given in option b is the part of the
given shape.

TSI
farered (b) o &t T8 TTeRfa o 7 faw T StreRr o e R

78. Which number replaces the question
mark?

o g (7) % S R - i EET Sei?

3 @ 6 &
) (15

a)8 b) 7
c)9 d) 14
Explanation: -

3 and 4 multiple is 12 and half of itis 6
6 and 5 multiple is 30 and half of it is 15
SO same way

7 and 2 multiple is 14 and half of itis 7
so, answer will be 7

T R:-

3 ST 4FHTIOS 12 B TR SR AT 96 7
6 3T 5 TS 30 & 3T SHHT ATIT 9T 15
araw &

7 S 2 HT IO 14 & 3R SR AT W7 §
a, I 7 8

b) ferepea =t 2

79. Complete the following analogy
Frafafaa wgw s gt

BDA:7::CAB:?

a)3 b) 6
c)5 d)9
Explanation: -

Addition of the positional value of alphabets
will give you 7 in first case. Apply same logic to
establish analogy.

2+4+1=7

CAB=3+1+2=6

TR ; -

e % TATR A T ST W 3gent geelt fRufa & 7 e
BRI WG T G 3 FoTe ST o Ty il
2+4+1=7

CAB=3+1+2=6

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

80. Find the odd one out:

EEICETRCIEE
a) Summer/ =g b) Winter/ zfia
c) Season / =g d) Spring/ =&a

Explanation: -

The odd one out in the given set is (c) Season.
Summer, winter, and spring are specific
seasons.

T -

fow 7T B 7 SN () HiSH R
off, Tt oK e fafyrs maw 8
T I T 2l

81. Find the odd one out:

EEICEIRGIER
a)121 b) 99
c) 135 d) 143

Explanation: - Answer is c) 135 because Rest all
are multiples of 11.

11x13=143

11x9=99

11x11=121

TIIER:- I 3) 135 TR 9 &l 11 3 o 2
11x13=143

11x9=99

1x11=121

82. Choose the odd one out:

T A ASNG B

a) BEIK b) CEGI
c) ACEG d) BDFH
Explanation: -

The odd one out in the given set is

(a) BEIK.

P T 15

+3 +4 +2

(b) CEGI: Each letter is incremented by two in
alphabetical order.

(c) ACEG: The pattern here seems to be
increasing by two in same way

(d) BDFH: Each letter is incremented by two in

alphabetical order.

TERI:-

ez Hasig ?

B E K

+2

(a) BEIK.

(b) CEGI : Jcdreh 3787 T SUTHTCAT shH H &1 & ST SITaT 2
(¢) ACEG: =181 42+ U &1 08 ¥ a1 § SigdT 311 dfid 2 @
(d) BDFH: Jc3eh 3787 ol SuiHTelT 360 T &1 | ST ST 2l

83. Find the odd one out:

b) (2)
d) (4)

ELICEORCIEE
)
3) @

a) (1)
c) (3)

Explanation: -

Answer (d) is correct because in rest all figures
we observe 2 lines are intersecting and dividing
the bigger geometric shape into 4 parts but in
d) option we cannot see two lines intersecting.

TSR -
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d) I T 2 il aehl weft STRfot # wW 3 € % 2
@ gfdeee o W@ 8§ 3R 9 SAd AR &l 4 9 |
T = & € AfeRT d) farshe o &0 1 Tt it uidese
A T TR <@ T o

84. There is a certain relationship between
two given words on left side of (::). Choose
the correct alternative for the missing term
using the same relationship.

() % T R fow 7 < wredt o <fer oo T ey &) wwE wew
T ITANT L G W T8 o To7e HeT forawet |

Clock : Time :: Thermometer: ___?_
LEIRR: B R b 1 e

a) Heat/ = b) Radiation/ fafeor
c) Temperature/ amm= d) Energy/ Ssit

Explanation: -

d) Answer is correct because Clock is a
timepiece that measure time. Thermometer is
also an instrument that measures temperature:

TR -

d) ST T T Fifh I Uk G0 WU I § Sl THT h
AT 81 UHTHTET oft Teh SUHIOT & ST ATIHT o J7T 2

85. Complete the analogy:

G R
C:3:L:?.
a)5 b) 2
)8 d) 12

Explanation: - In this analogy, the letters are
representing positional value in alphabetical
series. "C" is equivalent to 3, and "L" is
equivalent to 12. The number 3 corresponds to
the letter C, and 12 corresponds to the letter L.

TR - 59 TGV ¥, T Juiarer A § et 7
gfeffres @ €1 "C" 3 F ST R, 3 "L" 12 F s 2
TEAT 3 3 C | A @At 8, 3 12 37eR L T 0 @t 2
86. Complete the analogy:

G TR

Lion : Den :: Horse : ?

i : wig :: weT: 2

b) Barn / @ferem
d) Burrow / fert

a) Byre / smx
c) Stable / e

Explanation: -

The correct analogy completion is:

Lion : Den :: Horse : (c) Stable

In this analogy, lions are associated with dens as
their shelter, and horses are typically associated
with stables as their shelter. Therefore, the
correct choice is (c) Stable.

TS

HET |G Ui &

ﬁTS’:HTE::EﬁST:(C)ﬁ?J'{

30 WG H, W I AT F ®T F 0{G F IS A4 &, A
SR W 3 ST & & H S ¥ < B 8| gafen, Tt
o (o) Rem R

87. Complete the pattern:

ﬂ?ﬁ‘l’gﬁ:

LD
B
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a) (1)
c) (3)

b) (2)
d) (4)

Explanation: -

Answer is d)

The outer figure comes inside, and inner figure
goes outside in the circle and triangle. We will
apply the same logic here.

Esii:icoy) o

S| d)
regst o Streft 21 & et oft et e A .

88. Arrange the following in top to bottom
order:

Frferfad st S & e & e J e #i:

(A) Hand / 7or

(C) Heel / &t
(E) Neck /&7

(B) Face / =&
(D) Knee / g

Choose the from the

following:

correct option

e & 8w e

), (D), (C)
), (D), (C)

), (C), (D)
d) (B), (E), (C), (A), (D)

Explanation: - Face will come first followed by
(E) Neck then (A) Hand,
(D) Knee, (C) Heel

AR~ < Tt ST ST 18
(E) e Tt (A) &Y,
(D) ¥, (C) el

89. Choose the correct mirror image of the
figure (X):

A AN Y

X) @ ® @@ @
ST (X) i wet gdor S :

a) (a)
c) (c)

b) (b)
d) (d)

Explanation: - Correct mirror image of the given
figure will be c) option.

TR A 7 ST 1 T o e ) e g

90. Find the missing term in the following
series:

FrafaRea saer 4 g 78 I Hifer:
HFD, NLJ, TRP, ?

a) YWV
) ZXV

b) ZYW
d) ZYv

Explanation: - Letter Gap to be observed in the
given series like D -- F --- H
next leave | and next pattern is.

J-—-L--N
next leave O and next pattern is.
P--R--T

next leave U and next pattern will be.

V ---W---Z

and same logic to be applied to get the answer
pattern option c) ZYW.

THEHCL: - 1 7T @ H e SIS 3@ STHT A S
D--F-—H

STTAT SR | I 37T T2 R

J-—-L--N

STAT BT O I IATeAT Yt B

P--R--T

STAT U BT 3T SATAT e 8|

V ---W---Z

I I Ye forshed ¢) ZYW STH e o e §am e «n forn
ST =R

91. Find the missing number of the series:

ECRIET R ICIRINE
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0,3,?,15,24

a)2 b) 4
c)8 d) 13

Explanation: - If we observe the pattern, each
number is obtained by adding the next odd
number in the sequence:

e

+7 +9
0+3=3

3+5=8

8+7=15

15+9=24

So, the missing number in the series is
8+7=15

Therefore, the correct answer is (c) 8.

TR - Afe 7 Yest a1 flerr L, 1 e S ST
T 7T forem gt Stigent aTe 1 ST 2

.

0+3=3

3+5=8

8+7=15

15+9=24

Y A IR EET 8 +7 =158
FafeTe, T 3 (3) 8

1p 2

+7 +9

92. Complete the following analogy:

FrafoaRea wgea & @t
m @
Lal2s): 5] =Cafo fe ) 2
Bl )
A A
A Celofa) ®Calolc)
< ]
A i
© (alo[e) IQE
J D

a) (1)
c) (3)

b) (2)
d) (4)

Explanation: - Observe in the figure the
interchange of numbers 1 and 4 in Question
figure as well as 3 and 5.
Similarly interchange a and d in the answer
figure to obtain figure 2.

THERT:- b) Tl

fomr & g 1 3R 4 % 9wy 3 3 5 % ARH-USH @i
@

T YRR SATHIT 2 JTH A o foTT I TR F a 3 d Al
TIE § |

93. Choose the odd one out:

b) College/ ==
d) University/ feafeeme=

a) School/ =&«
c) Hotel/ grea

Explanation: -

The odd one in the given set is (c) Hotel, School,
College, and University are educational
institutions.

The hotel, on the other hand, is not an
educational institution; it is a facility that
provides lodging and typically meals to guests.

£y

fow Te e 7 SSlTS R (c) Bew, WA, it SR fraferamer
Srerfuren e 2

TE 3R, Ereat g eforer Teur e 2; 7 T et g
2 ST HEHT ol AT ST ST d- O WIS Je hidl 8

94. Complete the following analogy:
Frfafa g R

STAR : ATRS :: PLAN:?

a) ALNP b) ANLP
c) ANPL d) LANP
Explanation: -

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

Position of alphabet 1234 Changes to 3241
Similarly, PLAN will become ALNP.

Eosiicoy) o

qUHTAT 1234 T M 3241 H SedT WAl T,

3IGT IR, PLAN, "ALNP" &9 e

95. Find the missing number of the given
series?

TS G T FH HEAT I H?
2,5,10,7?,26

a) 24 b) 17
c) 19 d) 23
Explanation: -

The logic behind the terms of the given series is
simple, the first term is 2 and the second term is
5

2+3=5

The third term is 10

5+5=10

The fourth term is?

10+7=17

The fifth term is 26

17+9=26

Hence, we are adding consecutive odd numbers
starting from 3 to each preceding term.

The next number to be added to 26 will be 11
26+11=37

The next two consecutive odd numbers after 11
is 13 and 15. Thus, the next 2 numbers in the
series will be:

37+13=50

50+ 15 =65

2 5 10 7?7 26
| | | | |
+3 +5 +7 +9

TR -

& 7TS ST % URT % I T ok T 8, TEedT Ug 2 B 37K
TEAUES ®

2+3=5
dran e 10®

5+5=10

<t v 82

10+7=17

great ug 26 ©

17+9=26

SATTT, B Teieh qaad 08 H 3 & [ ek THTIAR foreH
et SIS © ©

26 H & Tt ST e 11 gt

26+11=37

11 o STE 3TTeAT &1 RTAR o Tt 13 37T 15 21 39
TR, T H STt 2 T g

37+13=50

50 +15=65

2 5 10 7?7 26
| | | | |

+3 +5 +7 +9

96. Find the missing term in the following
series:

FrfeRad gaen # g ve 3@ Fifve:

abc, abcc, abbcc, ? , aabbccc, aabbbccc

a) abbcca b) aabbccc
c) aabcc d) aabbcc
Explanation: -

The pattern in the given series involves the
repetition of letters in a specific order.

Let's analyze the pattern:

abc

abcc (repeat 'c' once)

abbcc (repeat 'b' once)

? (repeat 'a' once)

aabbccc (repeat 'c' twice)

aabbbccc (repeat 'b' twice)

The missing term should be obtained by
repeating 'a' once. Therefore, the correct
completion is:

abbcc (repeat 'a' once)

So, the missing term is: aabbcc (Option d).
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TS -

& T3 e & Yo W U ARt wH H SRl A Tah
T 2

aﬁqﬁzﬁmﬁw FL:

abc

abcc ('c' 3l T IR SEA)

abbcc ('b' 3T Teh S ETET)

? ('c' %I T X STl

aabbceccce ('c' aaﬂaﬁlﬁ)

aabbbcccc (b’ €T T 3TEA)

TH UE I ‘2’ HI TH GR AU IH AT ST =Ry
aabbec ('c' T Tsh o ST&AT)

r, @H‘ZI’C{%: aabbce (ﬁﬂw_ﬂ d)l

97. Select the correct figure which will
complete the given grid-

3 TR AT 1w w1 R e Brs g

el
pd -
S|P <>

o
A) E
a) (1)
c) (3)

Explanation: -

Correct figure will be b, as we observe in the
figure, in the grid the shading in first and
second figure is exactly opposite in first row and
last row so we will apply that logic here.

TR -
Tt fot 2T b) S o =1 fire O fo o ®9 7 3Ed €, vt

forodier 2, safere &n 3w aeh 1 et Ar] il

98. Complete the analogy:

Cricket : Bat :: Hockey : ?

G TR

3pohe : SieeT 2 BihT : 2

a) field / #em b) stick/ =€t
c) Player/ Raemet d) Ball/ g

Explanation: - In cricket, the primary equipment
used by players to hit the ball is the bat.
Similarly, in hockey, the primary equipment
used by players to hit or control the ball is the
stick. Therefore, the analogy is completed by
associating hockey with the stick, making the
correct choice (b) Stick.

TEAT:- fohohe T Raerieat grr g =i fee & & for 3w
foRaT ST el STeifier SUehtoT sioetl ) gt ki, g7kt &, e
1 fee e 1 i & o for Reemfeat gra swm femam
ST AT TTfHeh 30T BT 8| 3Td: Bleh ! &2 & @
STTeeht |l faree (b) fesh sHTeRt ATgw g fopa ST 2

99. Arrange the following in the ascending
order.

Frafafaa =t ST s o safterd )

(A) Year /o

(B) Month / w&iar
(C) Century/ @dt
(D) Week / @t
(E) Day/ f&x

Choose the correct option from those given
below:

a) (D), (E), (B), (A), (C)
b) (E), (B), (D), (A), (C)
c) (E), (D), (B), (A), (C)
d) (E), (D), (A), (C), (B)

Explanation: -

To arrange the given items in ascending order:
(E) Day
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(D) Week

(B) Month

(A) Year

(C) Century

So, the correct option is (c): (E), (D), (B), (A), (C)

TSR -

TS gt Y ST 5 i e Y 3 e
(E) fe

(D) @HTE

(B) w&HT

(A) T

(C) &t

I, @l fehed 8 (o): (E), (D), (B). (A), (C)

100. Arrange the following words as they
occur in the dictionary:

Trafeiaa wrsat ot SH YR Haftyd 3 S8 3 sghiT T
A E:

(A) LETTER/ o (B) LITTER / =1

(C) LEMON / i (D) LITTLE/ et

(E) LIZARD/ feusett

Choose the correct option from the
following:

a) (C), (A), (D), (E), (B)
b) (C), (D), (A), (B), (E)
c) (C), (A), (B), (D), (E)
d) (A), (C), (B), (D), (E)

Explanation: -

To arrange the given words in dictionary order:
(C) LEMON

(A) LETTER

(B) LITTER

(D) LITTLE

(E) LIZARD

So, the correct option is: ----

(3) (C), (A), (B), (D), (E)

TER:-

T 77T ITeqT T TSGR IR W H AT
(C) e,

(A) T

(B) %St

(D) et

(E) fesusheft

r, @& fawed 2: - (C), (A), (B), (D), (E)

SECTION — D: GENERAL KNOWLEDGE

101. Who is the author of the famous work,
‘The Man - eater of Malgudi’?

e B8 o1 T 3 TR T SEH T §

a) Rabindranath Tagore/ Wit &R
b) Ruskin bond / Resig

c) R.K. Narayan /=13, TRm=or

d) G.V. Desani / St gart

Explanation: -

The correct answer is (c) R.K. Narayan. R.K.
Narayan is the author of the famous work "The
Man-Eater of Malgudi."

Some of his notable works include "Swami and
Friends," "The Bachelor of Arts," "The Guide,"
and "The Man-Eater of Malgudi,"

R.K. Narayan received numerous accolades and
awards for his literary contributions, including
the Sahitya Akademi Award and the Padma
Bhushan, which is one of India's highest civilian
honors.

T -
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HE I (c) T FEURATH! ST TR0 St 21 T
FOTEATHT ST A0 T T H-32T 3T ATl
g o TR 23 T T HE § i 1S e,
g S ST TEE," T MES," IR T HA-3 AT AL
It &

A FUREETHT 3R AT TTHT b 3o dlfefcash
FTET 3 foTg % wraT 7R qrenr firct, foms wnfee
SHHTEHT RT3 T2 0T MM &, S IR oF Tl 9
TRTIGR TE | 8 T B

102. A Khunti is
TR ]

a) An implement used to dig the soil/ @
fore seamTet fomam ST aTeT SR

b) An iron pole to tie cattle / wafswl = aieq & forw
AR T T

c) A earthen pot to cook food / @M 9H & forw
i wreda

d) A musical instrument / e @ fta SR
Explanation: -

The correct answer is (b) An iron pole to tie
cattle. A Khunti is commonly used as an iron
pole to tie cattle. 'Khunti' is a common and
traditional hand tool used in agriculture. It is
called a 'hoe' in English.

TIY IR -

T I 2 (b) FATT T e o A U AR @ G
T ST A T AAREN ol i o e a1 & @9 &
&9 1 TR ST 21 e FHY § e AT ST ATl U
AT ST qRITER 81 T SIS ) 39 3OSt # ' el
STTaT R

103. You put a glass of water in the sun.
After 2 days, the glass is empty. Where did
the water go?

o o T wrlt g # v 2 T e e et @
ot et T

a) It evaporated/ =g anfeqd &1 maw
b) It condensed/ =g w@ufid &

c) It froze/ == s
d) It turned into nitrogen/ o€ TEgisH § sed AT

Explanation: -

The correct answer is (a). When you put a glass
of water in the sun, the heat energy from the
sun causes the water molecules to gain enough
energy to transition from liquid to vapor, a
process known as evaporation.

TEH: -

TE IW E (a) | S A9 g9 § U frerme ot e 8, @ g
§ frerer aTelt ST Sl ot o STUST R e | AT |
e o ToTT AT S 970 ST ST ShIOT ST ©, 39 ST
T SITSISRLT 3 &Y H ST ST 2

104. Best friend of soil is:

R F T R A E:

a) Birds/ wusft
c) Insects/ Fie

b) Earthworms/ &g
d) Snakes/ @i

Explanation: -

The best friend of soil among the options
provided is (b) Earthworms. Earth worms are
considered the best friend of soil due to their
crucial role in soil health and fertility.
Earthworms promote microbial activity in the
soil

T -

T T forapedt o & firght o weret 3= 31 € (b) e gt
T 3T IATAT H IohT HEeaqul Ifeht o FHROT He3l bl
firgt 1 Te¥ ST SR AT ST 2| Sy gt o gewstt
wifeferfer i srgra 34 &

105. Which solution is given when a person
has vomiting and loose motions?

1ot fepelt safh 1 3¢t S 2 &1 Al 39 i &1 =it faa Sfar
2

a) Milk Shake/ fies 3=
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b) Lemon Water/ e it
c) Fruit juice/ wai w1w@
d) Salt and Sugar/ 7ue sz =i

Explanation: -

When a person is experiencing vomiting and
loose motions, a solution that is often
recommended is (d) Salt and Sugar.

This solution is commonly known as Oral
Rehydration Solution (ORS), and it typically
consists of water, salt, and sugar in specific
proportions. The combination of salt and sugar
helps to replenish electrolytes and fluids lost
due to vomiting and diarrhea.

T -

s foreft safth ol 3t o % & T 2, T TR T A
FT TR & ATt B | 3T ST T AR T IIRA FRTgge
HIIRM (HTRTH) o & H ST ST 2, L 3600 HAHAR |/
fafre stqaa # e, ek SfR < Bt 81 e ST =
HEISH 3ot 3 g h HA W §U SIS S Tt
weret & R & o | Heg AT 2

106. Which one among the following is NOT
a natural way of food preservation?

Treferiaa & & )7 9 @ weEer s aThfae a2

a) Drying / g@mt

b) By adding preservatives / ufwes fiema

c) Salting and sweetening/ TaeiT sHMT 3K e
T

d) Pickling / s=msamT

Explanation: -

Adding preservatives is not a natural method; it
involves the use of artificial substances to
extend the shelf life of food. The other options,
drying, salting, sweetening, and pickling are
considered natural ways of food preservation.

TR -

ufiereh T Ush Uehfaeh aiieT T 2; 3aw e & S
ST T S & ToAT HET TaTeT HT SYART I B 3=

ferehed, G@mT, FHehI ST, HiaT AT S SR SHHT @rer
TTETOT o ST (e aLieh HT ST &

107. Which leaves can be kept in box to
protect the seeds from the insects?

offeli i ISt & w= o fore i o vt feser 3 wlt o wewclt
Ly

a) Neem/ ==
c) Banana/

b) Banyan/ swrg
d) Mango / s

Explanation: -

The correct answer is (a) Neem. Neem leaves
have insect-repelling properties and are often
used to protect seeds from pests and insects.

T -

TR S (a) i B fiw A afeat F Fre-fared o e #
T AT ST Rl it AT el & s o fore S fepa
ST 2l

108. Which of the following works can NOT
be done with water that has been used
once?

Frafefaa o & 9 a1 w1 Tk TR ST Ry T aEh & 1@
T ST ERaTe?

a) Mopping the floor/ Wt

b) Washing hands and face/ = s = e
c) Watering plants/ dieri =1 arft a1

d) Using in the toilet / si=merr & sed|Ter s

Explanation: -

The correct answer is (b) Washing hands and
face. The idea is that washing hands and face
typically requires clean water to maintain
personal hygiene.

TTHRIT: -

TE W 2 (b) T1Y TN e &1 fom=m 7 ® f% wnyr o
e Y14 o T AT I A THITT FeadT SHTC W o g
T YTt Al ATl Bt 2
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109. Which of the following devices is used
to measure body temperature?

Trafafaa o & fFe Su=or 1 ST YRR % Qo &6
a1 % fore femam ST 22

a) Lactometer/ waamfiex
b) Barometer/ sfifiex

c) Thermometer/ gmiHiex
d) Speedometer/ wfignfiex

Explanation: -

Lactometer: A lactometer is a device used to
measure the density of milk. It helps in
determining the quality of milk by assessing its
fat content. It is not used for measuring body
temperature.

Barometer: A barometer is an instrument used
to measure atmospheric pressure. It is
commonly employed in weather forecasting.
Barometers are not designed to measure body
temperature.

Thermometer: The correct answer is (c)
Thermometer. A thermometer is a device used
to measure temperature. There are various
types of thermometers, but for measuring body
temperature, clinical or medical thermometers
are commonly used. They can be oral, ear,
forehead, or infrared thermometers, providing
an accurate reading of body temperature.
Speedometer: A speedometer is an instrument
found in vehicles that measures and displays
the instantaneous speed of the vehicle. It is not
used for measuring body temperature.

TS -

AT ATt T 3T & ForrehT ST g4 3 ofcal
1 T o ToTe foram STt 21 e g <6t s |l a1 SATeher
e T TUTErT i it 5 7ag T o FHHT ST
IR % ATOHT ! AT % forw et fopam siar 2)

Sefte: sifiet argHEtT gamd H1 AT % e gemTe
ToRaIT ST SITeT Uk SUSRTOT 2| SEehT SEAHTST STTHAR 9T Hiem
¥ sifersamoft 7 foFam STTar 81 sRivHieX IR 3 qTomT 1w
& forg festrs =i frg o &)

IATHIET: T ST (¢) YHTHISK 21 ermfeiet qrom Ao & fofg
SEAATE TohT ST STeAT SUh0T 2| oiHTe 3 forfir=T wepm €,
AR I & AIIH Rl 7T 3 T, Aerfes = fafercan
STHTET SR W SUFT fopT SITd B o Hiflaes, s, AT am
ST UHTHIET Bl Fehd €, ST IR 3 diqH o1 @dieh dfem
T L 2l

wffenfiet: TieHiet aTe-t | I ST aTell Ueh SUeRTOT 8 St
ITE T qTcahTieteh T sl ATIAT & 3T Tef3id T 81 $8hT

110. How many spokes are there in the
wheel placed in the centre of the Indian flag?

TR el o o5 # T T afed # foprett dfiferat §

a) Twenty-six / sssfia

b) Twenty-four/ =ifw
c) Twenty-one/ s&ha

d) Twenty-eight / s13E9

Explanation: -

The wheel placed in the center of the Indian
flag is known as the Ashoka Chakra. It is a
depiction of the wheel of law or dharma, and it
has 24 spokes. The Ashoka Chakra was adopted
as the emblem of the modern-day Republic of
India on January 26, 1950, when India became a
republic.

Each spoke of the Ashoka Chakra represents a
virtue and is intended to symbolize the progress
and dynamic motion of life. The 24 spokes are
evenly spaced and radiate from the center of
the wheel, creating a visually striking and
meaningful design.

TERT:-

TR €851 o ohg H T 1T fedl ol ST =Ioh o &9 H ST
ST 21 g HET AT 9H F qied e 7, o 3| 24
dfiferat g1 1T =15k i 26 SHA, 1950 I STYfeF AR
TS o Yefloh o & § AIFET 7T T, ST T Ueh 70T
AT | 3RV =15k sh1 Wedeh diell e 10T 36T SdfTereer sl
& 7R 0T I3 Sfa i wf ST wfefier i @ e
24 et wam w7 & Sheft g3 § o afed % % @ freperd €

ST Teh AT eh 3T ddieh fesie sar 2
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111. Who wrote ‘Ramayana’?

‘T fomam foram

a) Valmiki / areifs

b) Vedavyas/ e
c) Kalidas/ =ferer

d) Gyaneshwar/ 3=t

Explanation: -

The ancient Indian epic, the "Ramayana," is
attributed to the sage Valmiki. Valmiki is
traditionally regarded as the author of this epic,
which narrates the story of Lord Rama, his wife
Sita, and his loyal companion Hanuman, among
other characters. The "Ramayana" is one of the
two major Sanskrit epics of ancient India, with
the other being the "Mahabharata.

AT -

T T AEThTe, "THTEIT" 3T 1T iy aTeH e shi feam
SITT 1 ATeHIfeR sl THUTEh &9 ¥ 38 HETehIeT 1 s AT
AT ®, S e T, 3Rt et €T 37T 3ok Thier dreft
B o STATAT 3= T 1 FHeT w8 "THE0r" W=
VI o 2T S S HeThed H ¥ U &, GO "HRTARA &

112. Which one of the following is a non-
renewable resource?

Trraferfaa & & st ar e TR-elioRofa dae 82

a) Petrol / ugra
c) Bio — gas /amn-&

b) Wind / a3
d) Sola/ @k

Explanation: -

The non-renewable resource among the options
provided is (a) Petrol.

Petrol: Petrol, also known as gasoline, is derived
from crude oil, which is a fossil fuel. Fossil fuels
are considered non-renewable resources
because their formation takes millions of years,

and their extraction depletes finite reserves.

Wind: Wind is considered a renewable resource
because it is generated by the sun's heat, and as
long as the sun exists, wind energy can be
harnessed.

Bio-gas: Bio-gas is produced from organic

materials such as agricultural and animal waste.
While organic materials are renewable, the
process of producing biogas can be considered
a renewable energy source.

Solar: Solar energy is considered a renewable
resource because it is derived from the sun, and
as long as the sun continues to radiate energy,
solar power can be harnessed.

TSR -

ol & & A TeeRTufia HETe (a) Ui 2

AN rer, For fraefie 3 &9 & oft 7 S 2, et aA o
ST BIT €, SiT Ueh SaTed S8 21 Siared $67 o1 -
TR FETE AT ST & FiToh o o o Tl |ret
T & TR ST Feehuior EfHa HeR i THTE T 2

T T T AR HHTER WA ST & i1 78 93 ol
Tl § 3T BT &, ST ST ok g SR | 8, Ta St b
ST foRaAT ST Wbl 2

TR ST Sifoes e, S Y S Oy safiy, &
3T BIT 81 Sifereh Wit et S 2, S smie
IeqTeH Sl TfshaT shT Teh TeleRTufd STl S T ST HehelT 2
RSt TR Foit AT Feftoholi ST THT ST & iR a8
T & T BNl 2, 3T ST ok T It feIfeRid T T, X
ST ohT ST f3RAT T HehelT 21

113. In Jammu & Kashmir, what does

‘Yakhni’ refer to?

S i e H, et 6 R Hae §

a) A piece of cloth worm on head by men/ gesi
I TR T AT ST STl S T ZoheT
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b) A non-vegetarian dish/ ts wia=i ==
c) A cultural festival/ Tt @i scda
d) A form of local dance/ =T Jea &1 & &9

Explanation:-

The correct answer is (b) A non-vegetarian dish.
Yakhni is a traditional Kashmiri dish, particularly
known for its aromatic broth. It is often made
with yogurt and various spices, and it is used to
prepare both vegetarian and non-vegetarian
dishes. However, in the context of Jammu &
Kashmir, 'Yakhni' commonly refers to a non-
vegetarian dish.

TIYIHIT: -

TEN 3T (b) Ueh HIEERT S5 2| TG Tsh ITiaiieh syt
SIS 2, S oIy &0 & 370 Frifer wiRer o o ST S 2
3 I <27 R fofirT meret & | s S g, 31
TEHT IYANT IMHERT R TETERT SHT TE & =S IR
T o T foparm STt 21 =reifen, SR S it o waf 4,
G TR UX U WIETERT ST bl Hefid T 2l

114. ‘Tadpole’ is in the larval age of which
animal?

e e STeR it Tt T H ¥2

a) Dog / = b) Tiger/ am=
c) Frog/ fe= d) Goat/ ==t
Explanation: -

The correct answer is (c) Frog. A tadpole is the
larval stage of a frog. During this stage, the
tadpole has a tail and lives in water. As it
undergoes metamorphosis, it transforms into
an adult frog.

TR -

el IW (c) Heh Bl SSUId Hash shl aral el 3] 36
AT % M, TSI T T I BNt & SR a8 Tt 7 et
Bl S TE FRETA ¥ ToRAT 8, T8 T q9%h Hew o
EESESISI

115. Birds like kites, eagles and vultures can
see things from a distance of:

ier, e e g 3 el <fioft o Pt g0 & e

a) Two meters/ @i

b) Four meters / ar i
c) Eight meters / =@ dix
d) Twenty meters/ sfta et

Explanation:-

The correct answer is (c) Some birds like kites,
eagles, vultures can see four times as far as we
can. These birds can see things from a distance
of eight metres what we can see from a
distance of two metres.

TSR -

HEl I & (o) =i, =, frg S e veft gl =/ AT X
o @ Wk &l 3 vell A3 Hiet i gl ¥ <Al o@ R & S
T 1 et i O & T T 1

116. What is the name of the eldest brother
among Pandavas?

gigal i Tl 5 WIS hT T FTR?

a) Bheem /sfim b) Arjun/s =T
c) Yudishther/gff&x  d) Karna/#et
Explanation:-

The correct answer is (c) Yudishther.
Yudhisthira, is the eldest of the Pandava
brothers in the Indian epic, the Mahabharata.

TR
HET I (c) AMEITHT =1 AR, et werehred HeTWRd #

qied WIgal § ¥ oS ¥ | HETWRd oh! ToT HefY o =@ 4
EAR

117. Bihu dance belongs to which state?

forg e forer T & wisifirr 32
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a) Assam / 1@

c) Bihar / foer

b) Gujarat/ Tsw@
d) Punjab/ &=

Explanation: -

The correct answer is (a) Assam. Bihu dance is a
traditional folk dance from the state of Assam in
northeastern India. It is associated with the
Bihu festival, which is one of the major cultural
celebrations in Assam.

T -

HE I (a) 370 2| Torg ToT Gt A o ST6H TS 1 Th
U Wi I 21 ¥€ forg R § g1 g1 €, S or|w |
T HiEHTE IcEal § ¥ TH 2l WA, 316,

118. Wahida Prism, Lieutenant commander
in the Indian Navy is what type of a
professional?

VI AT § Afdere Fwiet adier Son fore w6 99l
Ly

a) Doctor / €@

b) Software Engineer / witesrr $Siif=R
c) Chef/ s

d) Teacher/ forzres

Explanation: -

Wahida Prism Khan (born 1972) is an Indian
naval surgeon. She was the first woman to
command the annual parade at the Armed
Forces Medical College, Pune in 2006. She was
the first woman from Jammu and Kashmir to
join the Indian Navy.

TR -

TFdeT fon @H (F1 1972) T IRAT 91 TS & 98
2006 T 90T o I T HISHT Picts] H A1 TS i HAM
| Attt veelt afea off| g vt e 3 i e
AT ST ST I T vt At off

119. How many gold medals did Indian win
in Asian Games held in 2023?

2023 7 ST TRETS @at | WRdiE A fora @@l geeh Sfia?

a) 28 b) 52
c)42 d) 14
Explanation: -

India set a new benchmark for themselves at
the Asian Games 2023 in Hangzhou, the
People's Republic of China. India finished their
Asian Games 2023 campaign with a record haul
of 107 medals - 28 gold, 38 silver and 41 bronze.

TSR -

R o diqew fafects ST =mr % s & e Tt
2023 T 319 7T weh T srweh wenfue foram s 3 ufyerg
Tt 2023 AR 1 107 TghT - 28 Fvf, 38 Tod 3N 41
e o Fenie & ary guTy foham

120. Which super sense is activated by
langur while warning others of danger?

St o e ST e e e g e e
EIR I K

a) Sight / 3f¥ b) Sound/ saft
c) Skin / @@= d) Smell/ Tier
Explanation: -

The correct answer is (b) Sound. Langurs, which
are a type of monkey found in South Asia, use
sound as a means of communication,
particularly to warn others of potential danger.
They are known for their distinctive alarm calls
that alert the group to the presence of
predators.

TTHRIT: -

HE I (b) A 8| T, S SFFor TR & 9TE ST aret sfexi
Y Uk ST &, ST o G % &9 F eaf 1 ST L 8,
foriy &0 & gl b e et i =@ o % fow 7
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Foft faRe e i & fag s S § S oEHE @+
Teremfea st Suftufa & fore w=ra st &

121. Which one out of the following animals
has a very strong sense of smell?

Frferfaa srert # & foraeht e ot siTaT aigd Hofeld 22

a) Rabbit / wwmr b) Ant/ =fidt
c) Cat/ foeeft d) Monkey / s
Explanation: -

The correct answer is (b) Ant. Ants are known
for their exceptional sense of smell, which they
use for communication, navigation, and locating
food sources.

T -

T I (b) < 21 et wver i ot STETEROT GoeAT %
foru St STl 2, e s 9 dew, Afeiee ot @
AT T IdT T o foTg St 2

122. We mainly get energy to do work from:

i e 35 R e & et e &

a) Proteins / Wid=

b) Vitamins / fIerfim

c) Fats and carbohydrates / =@ 3it Fetersee
d) Minerals / =@ 3t Fraigizge

Explanation: -

The correct answer is (c) Fats and
carbohydrates. Fats and carbohydrates are
macronutrients that provide energy to the
body. When metabolized, they release energy
that can be utilized for various physiological
processes and physical activities.

TSI

TE IW () T 3TN FHreTERge 21 T0T IR FETEREIE Tee
I dedl @ ST I ST Sl JeT shid 81 STe SUT9=d 2l &,
AT S et ek ardt & e v fafie st sfwmet
S wdifees nifafarfer o fore femarm T weman 21

123. Children who live in the plains would
find it difficult to walk on the mountains
because:

At ST # T AT SR H TRIST W ST YRl
wit:

a) They are lazy./ 3 a1t 8|

b) The paths are rocky and uneven./ T qeriet
CIEEERCICEA]

c) The paths are very smooth./ T aga foe 8
d) There are no transports available
mountains./ TeETEl WIS aRee Suctsy T 2

Explanation:-

The correct answer is (b) The paths are rocky
and uneven. Mountainous terrains often have
rocky and uneven paths, making walking more
challenging compared to the smoother paths
found in the plains.

TR

e S (b) T Uil ST SFuH & Ueret sernt o
I qiel 3 STE9H T a8, e fgrt soment §
T S STt el TRt 26T T H =T ATk 1ol &t
ST 2l

124. Where is Char Minar situated?

AR iR e e 7

a) Jaisalmer / Sw@®  b) Puri /g
c) Aurangabad/stameTe d) Hyderabad/ 2eteme

Explanation:-

The correct answer is (d) Hyderabad.

The Charminar is a monument and mosque in
Hyderabad, India. The structure was built in
1591 AD. It was built in 1591 by Sultan
Muhammad Quli Qutb Shah. Charminar is
famous for its intricate architecture, which
makes it one of the most recognized structures
of India.

-
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TE I (d) TEETE B

IRHAR T % TeTaE H Ush TR 371 ARSTE 21 I8 Tt
1591 §. # =18 7% offl 39 1591 H Hed™ qewe Tl s
TITE = SIS M| FRHAR S ST ATEehetl o6 foTe Tig
2, ST 38 W oh! Ferdl HT=dT 916 §CA1el § § Ueh s7d] 2l

125. Earth takes how many days to revolve
around the Sun?

e g oo i e R 82

a) 365 days/ 365 fa

b) 365 % days/ 365 Vi fe

c) 365 % days / 365 v faa

d) 365 1/3 days / 365 1/3f&

Explanation:-

Earth revolves around Sun in 365 1/4 days. This
period is known as one Earth year. We usually
round the days in a calendar year to 365. To
make up for the missing partial day, we add
one day to our calendar approximately every
four years.

TSR~

qeaft g i afRnT 365 1/4 fo § w21 39 @ty w1 T
gl N o TG H ST SIAT 2| 89 AR T TF hersd a9 §
T T 365 T Tt L 2| T T ST Fa 3h1 9IS
TG, & 310 Shciet H ETHT &€ =1 91d § U o Sired 2
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